Tests for the REDUCE-TEX-Interface

compiled by W. Antweiler

1 Integration ‘ MODE: TeXindent | TOLERANCE: 1000
int (14x+x**2 x);
z - (2-x2+3~m+6)
6
2 Integration ‘ MODE: TeXindent | TOLERANCE: 1000
Int (xFHF2*(2*xF424-x)**2 x);
x5-(60-x2+70-x+21)
105
3 Integration ‘ MODE: TeXindent | TOLERANCE: 1000
int (x* (x**242*x+1),x);
$2-(3-x2—|—8~x—|—6)
12
4 Integration ‘ MODE: TeXindent | TOLERANCE: 1000
int(1/x,x);
In (z)
5 ‘ Integration ‘ MODE: TeXindent | TOLERANCE: 1000

int ((x+1)**3/(x-1)**4,x);

(3 m(x—1)-2°-9-In(z—1)-2°4+9-In(z—1)-z2—3-In(z—1)—6-2° —2) /

(3-(z*-3-22+3-2-1))

6 ‘ Integration

‘ MODE: TeXindent | TOLERANCE: 1000

int(1/(x*(x-1)*(x+1)**2),x);

(In(z—1)-24+n(z—-—1)+3-In(z+1)- -z
+3-In(z+1)—4-In(z) 2 —4-In(x)+2-2)/
(4-(x+1))




7 Integration ‘ MODE: TeXindent | TOLERANCE: 1000

int((a*x+b)/((=p)*(x-q))x);

In(p—z)-a-p+ln(p—z)-b—In(¢g—2x)-a-¢g—In(g—2z)-b
p—q

8 Integration ‘ MODE: TeXindent | TOLERANCE: 1000

int(1/(a*x**2+4+b*x+4-c),x);

2-V4-a-c—b?-arctan (724;;’:’;2)
4-a-c—b?

9 Integration ‘MODE: TeXindent | TOLERANCE: 1000

int((a*x+b)/(1+x**2) x);

2-arctan(z) -b+1In (22 +1) - a
2

10 | Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(1/(x**2-2*x+43),x);

rz—1
\/§~ arctan (W)
2

11 ‘ Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(1/((x-1)*(x**241))**2,x)

(arctan (z) - z* — arctan (z) - 2 + arctan (z) - z
—arctan (z) + In (2® + 1) - 2® —In (2% + 1) - 2?
+n(z>+1)-2—In(z*+1)—2-In(z— 1) - 2*
+2-In(z—-1)-2°-2-In(z—1)-z+2-lm(z—1)—2*-2-2+1)/
(4 (2® —2®+2-1))

12 ‘ Integration ‘MODE: TeXindent | TOLERANCE: 1000

int (x/((x-a)*(x-b)*(x-c)),x);

(In(a—z)-a-b—In(a—=z)-a-c—In(b—x)-a-b
+In(b—2)-b-c+In(c—x)-a-c—In(c—2x)-b-¢)/
(a2~b—a2~c—a-b2—|—a~c2+b2-c—b~02)




13 | Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(x/((x**24+a**2)* (x**24+b**2)) x);

—1In (a2 + xz) + In (b2 + x2)
2-(a? — b2)

14 | Integration ‘MODE: TeXindent | TOLERANCE: 1000

int (3% ((x¥*2+a**2)* (x**2 1 b**2) ) x);

arctan (%) - a — arctan (%) )
a2 _ b2

15 | Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(x/((x-1)*(x**2+1)) x);

2-arctan (z) —In (z2+1) +2-In(z — 1)
4

16 | Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(x/(14+x**3),x);

2-\/§-arctan(2'$§1> +In(z?—z+1)—2-In(z+1)
6

17 ‘ Integration ‘MODE: TeXindent | TOLERANCE: 1000

it (x**3/((x-1) 2% (x**3+1)) x);

(—(4-111(3:2—.70—0—1)-.r)—|—4-1n(.r2—.77—|—1)
+9 - In(z—-1)-z—9-In(z—1)—In(z+1) - 2+n(z+1)—6-2)/
(12-(z - 1))

18 ‘ Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(1/(14x**4) x);

V2-2.x V2+2-x
(\/5 (— (Q-arctan (T)) + 2 - arctan (T)

71n<— <\/§~x)+xz+1)+ln(\/§~z+x2+1>>)/8




19 ‘ Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(x**2/(14+x**4) x);

V2-2-x V2+2-a
(\/§ ( <2~arctan (T)) + 2 - arctan (T)

+in (= (V3-2)+a2+1) —In (V2w +2? +1))) /8

20 ‘ Integration ‘MODE: TeXindent | TOLERANCE: 1000

int(1/(14+x**24x**4),x);

2-x—1 2-x+1
2~\/§~arctan _— +2~\/§-arctan <—>
—3 Im(2*—2+1)+3-In(2* +2+1)) /12

21 ‘ Integration ‘NIODE: TeXindent | TOLERANCE: 1000

int(sin x**2/x,x);

—ci(2-z)+1In(x)
2

22 | Tntegration | MODE: TeXindent | TOLERANCE: 1000

int(x*cos(xi/sin(x))*cos(x) /sin(x)**2,x);

/ cos (Slfﬁ) -cos (z) - x -

sin (z)°




